Name: Date:
PC: Review sheet for Exam 2 Quarter 3 Ms. Loughran

1) Using Matrices, lind the arca of'the triangle with vertices (2/3, 4), (3, -6). and (1/2. -3)

2} Which value ofx for the equation below is true?

3]

3) Find the sum of'the given matrices:

32 % 1-5
56 8 4

4)  Find the dilierence of'the given nuatrices:

50 4 -6
2 1|=-12-2
4 -3 -1 3

5)  Find the scalar product of'the given matrix and coeflicient:

136
’3[9 1 4]

6)  Find the product ofthe given matrices:

IR



7)  Find the inverse uf[_g ‘3 ]

. .24 20 et g
8) Snmphl)f.[4 5:' [,3 1:' - [4 5:“:5 -1

8 -2
-1

1
9) Evaluate:| 3 4
2 -3 -1

w

10)  Forwhat value of'w is the Dllowing statement true?

5 -2
| 3 w |._w+14

Questions 11 through 13 refer to the following:

Use Criner's Rule 1o solve the given linear system of equations:

) x-4p=22
3

12) 2xv-4dy=7

XA |



3) x+3y-z=8
W= ptd==(

“dvtp-32=22

14)  Write the system of equations represented by the matnx equation below:

325 X 3
114f-yl=] 2
227 z -5

15)  Solve the system of lincar cquations by using an inverse matrix:

Ox - S¢=3
Iv-2r=3

16)  Are the points (3, 1/2), (-2. 2), and (5.-3) collincar?

17)  Using Matrices, find an equation of the line that passes through (2, -2) and (1/2, 3)

£

18)  What is the inverse of'the following natrix?

i m
g o



19)  What is the determinant of'the following matrix?

hoe 1«
¢ oa
i ng

Questions 20 and 21 reter to the Dllowing:

Using the matrices below, find the matrix equal to the given expression:

i 4

4 6 0 -1 6 -3

S=[1 2] T=[1 2:| U= 2 4

50
200 S-71
21) I'+vu

v=[96 4 -1]



Given:

a b c m o p
A=|d e f| and B=|q r s
g h k t y z
Find:
23. A+B 24. A-B
25. AB 26. 2B

27. det (4) 28. |B|



